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For each situation below you have $120 to share out in the given ratios.
With a partner, work out how much each person receives.

Situation 1: Two people, Jack and Pippa, ratio of 1:1

Situation 2: Two people, Andrew and Alex, ratio of 2:2
Situation 3: Two people, Jess and Teresa, ratio of 2: 3
Situation 4: Two people, Kyle and Kara, ratio of 3:5

Situation 5: Three people, Matt, Leos and Djarrin, ratio of
1:1:1

Situation 6: Three people, Christine, Prue and Carolyn, ratio of
3:5:7

Ajeweller mixes other metal alloys with gold
to increase its durability. One yellow gold
alloy has a ratio of: gold : silver : copper =
15:3: 2. Hence a 40 g yellow gold bracelet

comainsg x40 = 30 g of pure gold.

Discuss the strategy that you used to share the $120. Does your strategy work for every situation?




